APPC

Chapter 7 and 8 Examination

Answer the following problems, documenting your solution using nouns, verbs, and –ly words. 

1. A hunter enters a lion’s den and stands on the end of a concealed uniform trapdoor having a mass of 22.666 kg freely pivoted at a distance x from the other end. Given that the hunter’s weight is 666 N, what fraction of the total length must x be in order that she and the end of the trapdoor shall start dropping into the depths with acceleration g when the trapdoor is released?

2. Evaluate I for a sphere of uniform density (, with an axis through the center.

3. If a disk is rotating at 1200 rpm, what torque is required to stop it in 3.0 minutes?

4. At what point would a uniform board 100.0 cm long be supported so that it balances a 10.0 gram mass placed at one end, a 60.0 gram mass on the other end, and a 40.0 gram mass 30.0 cm from the 10.0 gram mass? What is the magnitude of the supporting force?

5. A block of mass m, initially at rest, is dropped from a height h onto a vertical spring whose force constant is k. Find the maximum distance y that the spring will be compressed.
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